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1 ÛÊê
¤�õ�

�õÀÖõ 1.1�»¿þ¤�� 1.1.1ý�Â� �¤ ¢�¡ �ÎÜ¨ ´½� ¢���õ â���õ ø ´�ãÞ� ¥� �¤ ü��ä�Ï� �� Àþ¢ �¥� ,´¡�õ� �¤ ö¢Âî ´õ�Ø� �î ü÷�õ¥ ¥� ÂÈ�ö��Ü��� ,ÝþÀì ö�þÂÊõ ,Õ�µä Àúä ¾þ¤��� ¤¢ â���õ ¤�ÀÖõ ø ¤��ð¤�î ö���õ ¥� üû�ð� �÷�ð ßþ� .Àª�� �µª�¢ ´¨¢ ¤¢ Âµú� ¢ÂØÜÞä´¨Âúê ��ú� ø ùÀª ÂµÈ�� ü��ä�Ï� ý�úµ¨Âúê ý¤ø� âÞ� ´�Þû� ö�õ¥ ¤øÂõ �� .¢�ª üõ ùÀþ¢ ¢��õ ¥� Û±ì ùb¤��û ¤¢ ö��õø ¤ ø¤¢ .À÷¢�¢ üõ ��¹÷� �Æ�Üî ÂÎ÷ Âþ¥ �¤ Âõ� ßþ� üÎ¨ø öøÂì ¤¢ �î ü��� �� ùÀª üÖÜ� Ýúõ �ÖÜãµõ í�õ� ø ü÷�Æ÷� ýøÂ�÷ ¥� ü��ûý�úó�¨ ß�� .Àª �µª�Ú÷ ý¢�Êµì� â���õ ø ´�ãÞ� ¥� ��ä�Ï� ��µî ß�óø� 1¼��ê ���Üþø ¤�µ¨À� ö�µÆÜÚ÷� ¤¢ 1300 ñ�¨¢�¢ ö�È÷ ,¢�¡ ��µî ¤¢ ö� �b ��¤� �� ø ¢Âî ��ú� Â�õ ø ïÂõ ,Àóø ø ¢�¥ ¥� ý¤�õ� ´÷�Âð ö�� ö�µ���î ý¢��õ 1669 üó� 1661.´¨� ö�¢Âõ ¥� ÂµÈ�� ö�÷¥ ùbÀä Å�ÜÚ÷� ¤¢ �îñ�¨ ¤¢ ø ´ê¤ ¤�Ø� (1772-1719)4ñ����� ÀþÂÔ��ð Í¨�� 3¤�ÀÞµ¨��¨ ü÷�÷�þ �ÞÜî ¥� 2¤�õ� �ÞÜî ¤�� ß�óø� ý�Â�ý¤� õ� ©¤�Þª �� ÷ � � Ç�� µ î ¤¢ 6Â � Ü Ø � �¨ Å³¨ ø Àª � µ êÂ ð ¤�Ø � 5ö� õÂÞ þ¥ Í¨� � ö� µÆ ÜÚ ÷� ¤¢ ¤� õ� �Þ Ü î 1787¤¢ ¤�Èî ßþ� ¤¢ ý¤�ÞªÂ¨ ß�óø� ø Àª ¢�¹þ� �Æ÷�Âê ¤¢ ý¤�õ� �b Ü¹õ ÝûÀÔû öÂì Í¨�ø� ¤¢ .¢�¢ ´�õ�Þä �Â÷� 7À�Ü��Ø¨�ù¢�Ôµ¨� �ø�ó ø ´êÂð ��¹÷� ÓÜµ¿õ ý�û¤�Èî ¤¢ ýÂÚþ¢ ý�û ý¤�ÞªÂ¨ ýÀã� ñ�¨ ´Æ�� üÏ Å³¨ ,´êÂð ��¹÷� .�1791ý�ûù¢�¢ �b ãó�Îõ �� �ú�� �î ´ª�¢ ¤�úÒ� (1626-1561) ßØ�� Å�Æ÷�Âê �î �¹÷� �� .¢�¢ ö�È÷ �¤ ý¢Àä ý�úÜ�Ü½� ø ¤�õ� ¥�.¢�¢ ö�õ�¨ �¤ ýÂÈ� Ç÷�¢ ö��� üõ �ú÷� Û�Ü½� ø üã�±Ï ø ü�Â¹� ý�ûùÀþÀ�¢Â�¤�î ö��� üõ ù¥øÂõ� ø ù¢�±÷ ��Üä ¥� «�Ê¿� �b¡�ª ×þ Éµ¿õ ,ý¢Â�¤�î ���®�þ¤ ¥� ý� �¡�ª ö���ã� ¤�õ� ¥� ù¢�Ôµ¨�.´ê�þ ... ø ý¥¤ø�Èî ,üØª�� ,üÞ�ª ,×þ��ê ,üµÆþ¥ ��Üä ,ü¨��ª �ãõ�� ,ü¨��È÷�ø ¤ ,¢�Êµì� À�÷�õ ��Üä ¥� ý¤��Æ� ¤¢ �Â÷�
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5 ¤�õ� .1 ÛÊê�ú÷� ¥� �¤ üÜî ý� ùÀä�ì ø ¢�Þ÷ Û�Ü½� �¤ ü�Â¹� ¸þ�µ÷ ö��� üõ ���Þµ�� ÝÜä ¥� ýÂ�ð ùÂú� ø ý¤�õ� ý�û ù¢�¢ ¥� ù¢�Ôµ¨� ��×Þî �ú÷� �� ø �µê¤ ¤�ÞÈ� ��þ¤øÂ® ¥� ��Æ ä �õ ø âþ��¬ ö�±��¬ ø ö�ÂþÀõ ý�Â� ö��î� Û��Æõ ý¤�õ� ´¡��ª .¢Âî ��µ�µ¨�´êÂÈ�� ø �ã¨�� ý���Âþ¥ 8ùÀ÷Â�ð Ý�ÞÊ� ÝÜä ×þ ý��ãÞ� ¤�õ� .À����� �¤ ÛØÈõ �¤ �Ü��Öõ ù�¤ ø À�¨��È� �¤ ��ØÈõ �î À�î üõ.À�î üõ �Ôþ� ý�ùÀÞä ÇÖ÷ ¤�Èî ×þ ùbÀ�þ� ö�î ��Þ�ÞÊ� ø �û ý�þ¤ �õ�÷Â� ¤¢ ø ù¢��ý�û�Î¡ ø é�Â½÷� ø ß�Ú÷��õ ùb¤��¤¢ ¤�� ß�óø� �î üØþÄÜ� Âð¤�õ� ø Ý¹�õ (1794-1874) 9�Üµî �Â±õ� ¤�õ� ö�õ�ÚÈ�� ¥�ö�Þ�¨ ø (1654-1705) üó�÷Â� ��î�� �î �¤ ï¤�� ¢�Àä� ö�÷�ì �Üµî .´¡�¢Â� ¶½� �� üä�Þµ�� ý�û ���õ¥ ¤¢ ý¤�õ�ßþ� ´ã¨ø �� ö�÷�À�®�þ¤ ø ö�÷�¢¤�õ� ö�õ¥ ¤øÂõ �� .¢�¢ ¤�Âì ù¢�Ôµ¨� ¢¤�õ À÷¢�� �µê�þ ´¨¢ ö� �� (1781-1840) ö�¨���´ì¢ ø ´äÂ¨ �� �÷�þ�¤ Í¨�� �û ù¢�¢ ��±¨�½õ ö��î� .À÷À�È¿� ´ã¨ø ö� ¤¢ �¤ ñ�Þµ�� ø ý¤�õ� ý�úÜ� ù�¤ ø À÷¢ø�ê� ÝÜäÛ�Ü½� ¤¢ ö��î� ý¤�õ� ý�û¤��ê� �Â÷ .´¨� �µêÂð �¤ üµ¨¢ ��±¨�½õ ý�� 10�û ù¢�¢ ü��ª�õ ©ø�î ø ¢�ª üõ ��¹÷� ýÂµÈ��.À��î üõ ���ú� �¤ ü��ú÷ ��Þ�ÞÊ� ø ù¢�� ¤�¢ ùÀúä �¤ üµ±·õ ¤��Æ� ÇÖ÷ �û ù¢�¢�ó�Æõ ÓþÂã� 2.1.1¤¢ ¤�õ� .´¨� ´Ô¬ À�� �þ ×þ ¯�±�µ¨� ø ýÂ�ð �¹�µ÷ Å³¨ ø �ú÷� ©¥�¢Â� ø ��ä�Ï� ý¤ø� âÞ� ¥� ´Æ�¤�±ä ¤�õ� ÝÜäÕÖ½� .Àû¢ üõ Çþ��ê� �ú÷� �� ´±Æ÷ �¤ �õ üû�ð� ÝþÂ±� ¤�Ø� ��ä�Ï� ¥� ý� �ä�Þ¹õ ýø¤ �Â÷� Âð� �î ´¨� üÞÜä ý¤���� âì�øö��¥ �� �¤ �ó�Æõ ßþ�Â���� ,Àª�� üõ ß�ãõ üÊ¡�ª �� �û ù¢�¢ �bä�Þ¹õ ýø¤ Â� ü®�þ¤ ý¤�µ¡�¨ ¢�¹þ� �� ¯��õ �Àµ�� ¤¢ ,Âõ� ßþ�ü®�þ¤ ý¥�ÆóÀõ �¤ �ó�Æõ ´ó�� ßþ� ¤¢ .ÝþÂ�Ú� ùÂú� �ó�Æõ Û� ý�Â� ü®�þ¤ ý�ûÀ�êÂÏ ¥� Ý�÷��µ� �� Ý��î üõ ö��� ü®�þ¤ù¢�¨ �¤ ùÀª ù¢Â� ¤�Ø� ü®�þ¤ Ý�û�Ôõ ,���ú� ý¥�ÆóÀõ .Ý�û¢ üõ ��¹÷� �¤ ÂÑ÷¢¤�õ É¡�ª ýø¤ ¯�±�µ¨� ÕþÂÏ ßþ� ¥� ø ù¢�Þ÷ý¤�õ� ý�úªø¤ ,ý¥�ÆóÀõ £�¿�� ¥� Å� .¢¥�¨ üõ ÂµØþ¢�÷ ÂÑ÷¢¤�õ �bä�Þ¹õ Ǒ�Ìä� ´�Ê¿ª �� �¤ ¤�î �b¹�µ÷ ø Â� ü��Àµ�� ø Â�.ÝþÂ� üõ ¤�Ø� �û ù¢�¢ Û�Ü½� ø �þ�¹� ý�Â� �¤�bãõ�� �¤ À�ª�� üõ íÂµÈõ ´Ô¬ ×þ ¤¢ Ûì�À� ø À÷Â�ð üõ ¤�Âì ý¤�õ� �b ãó�Îõ ¢¤�õ �î Ǒ��ª� �þ �ú÷�Æ÷� ¥� ý� �ä�Þ¹õüÚµÆ� ø ¢�ª üõ ñ�Þä� �ãõ�� Ǒ�Ìä� ýø¤ Â� ,Àª�� üÔ�î �þ üÞî ´Ô¬ �Ø�þ� ¥� Ýä� íÂµÈõ ´Ô¬ ßþ� Ç¹�¨ .Ý�õ�÷ ý¤�õ��þ ø á�®�õ Ý�û��¡ üõ ö� ý�Ìä� ùb¤��¤¢ �î ´¨� Ǒ��ª� �þ ¢�Âê� ¥� ý��ä�Þ¹õ ý¤�õ� �b ãõ�� Å� .¢¤�¢ ö� ¢�Âê� ×� ×� ��×� Âð� .Àª�� (¤�Èî ´�ãÞ� �·õ) ¢øÀ½õ�÷ �þ (§�î ×þ ¢�Âê� �f ·õ) ¢øÀ½õ ´¨� ßØÞõ �ãõ�� .Ý��î �ãó�Îõ �¤ ü��ä�®�õ�È�Þû ÓÜµ¿õ Ûþ�À� ý¤�ÞªÂ¨ �Ø���¹÷� ¥� ø Ýþ�ù¢Âî ý¤�ÞªÂ¨ �¤�Ê�þ� ¤¢ ,Ý�û¢ ¤�Âì �ãó�Îõ ¢¤�õ �¤ �ãõ�� ×þ ¢�Âê� ×�ý¤�ÞªÂ¨ �� ü�¤øÂ® ý¢¤��õ ¤¢ �þ ø Ý�µÆ�÷ �ãõ�� Ûî ý¤�ÞªÂ¨ �� ¤¢�ì �þ (¢øÀ½õ�÷ âõ��� ¤¢ «�Ê¿�) ´Æ�÷ ÂþÁ³÷�Øõ�ýø¤ �¤ ÂÑ÷ ¢¤�õ É¡�ª ø �µêÂð ÂÑ÷ ¤¢ �¤ Ǒ�Ìä� ¥� ý¢øÀ½õ ¢�Àã� ,�ãõ�� Ǒ�Ìä� Ûî ¥� ù¢�Ôµ¨� ý�¹� �¤�Ê�þ� ¤¢ .´Æ�÷Ý���ð üê¢�Ê� �b ÷�Þ÷ ,À÷�ª üõ ��¿µ÷� üê¢�Ê� �¤�Ê� �î �¤ �ãõ�� Ǒ�Ìä� ¥� ù��¿ó¢ ¢�Àã� ßþ� .Ý�¹�¨ üõ ù��¿ó¢ ¢�Àã� ßþ�.¢�ª üõ ��Æ½õ ý¤�õ� �b ãõ�� ¥� ý��ä�Þ¹õÂþ¥ �÷�Þ÷ ø.À÷¤ø� üõ ¤�ÞÈ� Decision Theory �û Ý�ÞÊ� �b þÂÑ÷ ¥� ý� �¡�ª �¤ ¤�õ� ��÷ ü¡Â�8
Lambert A.J.Quetelet9

Data Mining10



6 ¤�õ� .1 ÛÊê�÷�Þ÷ 3.1.1ýÂ�ð �÷�Þ÷ �õ� .´¨� �ãõ�� Ûî �� ö� ö¢�¢ ´�õ�Þä ,ýÂ�ð Ý�ÞÊ� ¥� Å� ø �ãõ�� ¢�Âê� ¥� ý¢�Àã� ¥� ýÂ�ð �÷�Þ÷ ¤�õ� ¤�î¸þ�µ÷ �fÞÜÆõ �ú÷� Õ�ì¢ Û�Ü½� ø �þ�¹� ø Ýó�¨ ø ¼�½¬ ,À�Ôõ ý�û ù¢�¢ ý¤ø� âÞ� ,¢�� Àû��¿÷ �Î¡ öøÀ� �ãõ�� ×þ ¢�Âê� ¥��¤ É¡�ª ´�õ�Þä �� ü���µ¨¢ Â�Æõ ¤¢ ÂÑ÷ ¢¤�õ ý�û�Î¡ ´Æþ�� üõ ßþ�Â���� .´ª�¢ Àû��¡ Â� ¤¢ �¤ ý¤�±µä� ¤�¡¤¢ ø À�ÔõüµÆþ�� �ãõ�� ýø¤ Âµõ�¤�� �þ É¡�ª ×þ Õ�ì¢ ¢¤ø�Â� ý�Â� .´¨� �µÆ��ø ���Þµ�� ÝÜä �� á�®�õ ßþ� ÕÖ½� ø ´êÂð ÂÑ÷ ¤¢ýø¤É¡�ª ¢¤ø�Â� ´½¬ ø ù¢�� �ø�Ôµõ (�÷�Þ÷) �ãõ�� Ǒ�Ìä� ýø¤ ÂÑ÷ ¢¤�õ É¡�ª �fã±Ï .Ý��î ù¢�Ôµ¨� üê¢�Ê� �b ÷�Þ÷ ¥��÷�Þ÷ ý¤�õ� ý�úªø¤ �� ø ùÀª ��Æ½õ ��¡ ��ä�Ï� �Ü¬�� ��ä�Ï� .´¨� �µÆ��ø �f õ�î �÷�Þ÷ Ǒ�Ìä� ö¢�� üê¢�Ê� �� �÷�Þ÷Ǒ�Ìä� ¢�Àã� .Ýþ¥�¢Â� üõ �÷�Þ÷ ×þ Õ�ì¢ ´¡��ª �� ø �µª�Áð ¤��î �¤ �ãõ�� ö��î� .Ý���Þ÷ üõ ýÂ�ð �¹�µ÷ ø Ý��î üõ ü¨¤Â� �¤.À�þ�ð ��÷ �÷�Þ÷ ùb¥�À÷� �¤ n .¢�¢ Ý�û��¡ ö�È÷ n �� �¤ �÷�Þ÷ Ǒ�Ìä� ¢�Àã� ø N �� �¤ �ãõ�� ×þ�÷�Þ÷ ×þ Â�çµõ 4.1.1.Ý�õ�÷ Â�çµõ �¤ ÝþÂ�Ú� ù¥�À÷� �÷�Þ÷ ×þ ýø¤ ´Æþ�� üõ �î �¤ üÊ¡�ª ,À�µÆû íÂµÈõ üµÔ¬ ý�¤�¢ �ãõ�� Ǒ�Ìä� �î Ý�µÔðüÔ�îÂ�çµõ ø üÞîÂ�çµõ �b µ¨¢ ø¢ �� üê¢�Ê� Â�çµõ .Àª�� ... �þ �÷�¡¤�î ×þ ñ�Ê½õ ��ø¢ �þ ¢�Âê� Àì �þ ß¨ À÷��� üõÉ¡�ª ßþ�Â�çµõ Ý�û��¿� Âð� �¤�Ê�þ� ¤¢ .À÷� ýÂ�ð ù¥�À÷� Û��ì üþ�ûÂ�çµõ ,üÔ�î ý�ûÂ�çµõ é�¡Â� üÞî ý�ûÂ�çµõ .¢�ª üõ ýÀ�� Ý�ÆÖ�´¨� ßØÞõ üa Þî Â�çµõ .Ý��î üa Þî Â�çµõ �� ÛþÀ±� �¤ ö� ´Æþ�� üõ Ý�¹�Æ� ... ø ©�û ö���õ ø ùøÀ÷� ø ý¢�ª Û�±ì ¥� �¤ üÔ�î�¤ ¤�ÀÖõ ø¢ Âð� ÂÚþ¢ ü�¤�±ã� ,À�î ¤��µ¡� �¤ �Ü¬�ê ×þ ßØÞõ ý�û ù¥�À÷� �î ´¨� üÞî Â�çµõ ×þ �µ¨��� Â�çµõ ø Àª�� �µ¨���ý�ûÂ�çµõ .Ý���ð �µÆÆð Â�çµõ Àª�±÷ �µ¨��� �î üa Þî Â�çµõ �� .Àþ�Þ÷ ¤��µ¡� À÷��� üõ ��÷ �¤ �ú÷� ß�� ¤�ÀÖõ Âû ,À�î ¤��µ¡� À÷��µ�üÔ�î Â�çµõ Àª�±÷ ü±��Â� �î üÔ�î Â�çµõ ø Ý���ð üõ ü±��Â� üÔ�î ý�ûÂ�çµõ ¢¤�¢ ¢��ø üã�±Ï °��Â� üä�÷ �ú÷� ¤¢ �î üÔ�î.Ý���ð üõ üÞ¨�ý¤�õ� ý�û ù¢�¢ âì�ø ¤¢ .Ý�û¢ üõ ö�È÷ xi �� �¤ ö� ø Ý���ð üõ ù¢�¢ �¬�¡ ¤�Î� �þ ý¤�õ� ùb¢�¢ �÷�Þ÷ ×þ Ǒ�Ìä� ��¤¢ .Ý�û¢ ¤�Âì Ç¹�¨ ¢¤�õ �¤ ù�ÚÈ÷�¢ ×þ ö�þ�¹È÷�¢ ß¨ ö���õ Ý�û��¡ üõ À��î ­Âê .À���È÷ üõ �÷�Þ÷ ×þ Â�çµõ ý�¹���Æ½õ �÷�Þ÷ Â�çµõ �î ´¨� ö�þ�¹È÷�¢ ß¨ Ç¹�¨ ¢¤�õ É¡�ª ø ¢�� À�û��¡ ý¤�õ� �b ãõ�� ù�ÚÈ÷�¢ ßþ� ö�þ�¹È÷�¢ �¹�þ�.À÷Â�ð üõ ¤�Âì xi ý�¹� ��÷ üê¢�Ê� ý¤�¢Â� �÷�Þ÷ ¥� Û¬�� ý�û ù¢�¢ ø Àª Àû��¡�û ù¢�¢ ü÷�ø�Âê ñøÀ� 5.1.1´±½¬ �ú÷� �� â��¤ �fÀã� �î - �û ù¢�¢ ¤��ãõ é�Â½÷� ø ß�Ú÷��õ �� ´¨� �¥� ,�û ù¢�¢ ö¢¤ø� ´¨À� ø ýÂ�ð �÷�Þ÷ ¥� Àã�ñøÀ� ö� �� �î Ýþ�þ¤ üõ ñøÀ� ×þ °ó�ì ¤¢ ,ö¢�Þ÷ °�Âõ ø ý¤ø�âÞ� ¥� Å� �¤ �û ù¢�¢ .Ýþ¤ø� ´¨À� �¤ - ¢Âî Ý�û��¡ÕÜÎõ ü÷�ø�Âê �ø¢ ö�µ¨ ¤¢ ø ù¢�¢ ý�� �¤ (�÷�Þ÷ ý�ûù¢�¢) xi ñøÀ� ßþ� ñø� ö�µ¨ ¤¢ .Ý���ð �ûù¢�¢ ü÷�ø�Âê ñøÀ� �þ ý¤�õ�ö�È÷ fi �� �Â÷� ø ´¨� ùÀª ¤�ÂØ� ù¢�¢ ö� �î ´¨� ü��ãê¢ ¢�Àã� �� Â��Â� xi ùb¢�¢ ×þ ÕÜÎõ ü÷�ø�Âê .Ý��î üõ ´ª�¢¢�þ �¤ �ú÷�üõ ��-i �b µ¨¢ ü±Æ÷ ü÷�ø�Âê �¤ fi = fi

n ÂÆî ¤�ÀÖõ ,Àª�� n �÷�Þ÷ ý�û ù¢�¢ ¢�Àã� ø ��i ùb¢�¢ ÕÜÎõ ü÷�ø�Âê fi Âð� .Ý�û¢ üõ



7 ¤�õ� .1 ÛÊê.ö� ¥� Û±ì ý�ûù¢�¢ ø ù¢�¢ ö� ü÷�ø�Âê á�Þ¹õ �� ´¨� Â��Â� ,ù¢�¢ Âû Fi üãÞ¹� ü÷�ø�Âê .Ý�û¢ üõ ý�� fi ö�µ¨ ¤¢ �Â÷� ø Ý���ð.¢�¢ ý�� ��÷ ñøÀ� ý�úµ÷� ¤¢ ö��� üõ �¤ üãÞ¹� ø ü±Æ÷ ý�û ü÷�ø�Âê
xi fi Fi fi fixi xi − x̄ (xi − x̄)2 fi(xi − x̄)2 · · ·
...

...
...

...
...

...
...

...
...�� ´¨Â��Â� xn ø · · · ø x2 ø x1 ùb¢�¢ n ý�Â� ø Ý�û¢ üõ ö�È÷ x �� �î ´¨�ûù¢�¢ Í¨�µõ ö�Þû ,�÷�Þ÷ ×þ ý�ûù¢�¢ ß�Ú÷��õ

x =

∑n
i=1 xi

n.¢�ª üõ �¬�¡ x =

∑

fixi

n �¤�Ê� fn ø · · · ø f2 ø f1 ý�û ü÷�ø�Âê �� xn ø · · · ø x2 ø x1 ùb¢�¢ n ý�Â� ß�Ú÷��õ ñ�õÂê:¥� ´Æ�¤�±ä fn ø · · · ø f2 ø f1 ý�û ü÷�ø�Âê �� xn ø · · · ø x2 ø x1 ùb¢�¢ n ¥� �÷�Þ÷ ×þÅ÷�þ¤�ø
S2

x =

∑

fi(xi − x̄)2
n − 1

fi(xi − x̄)2 ø (xi − x̄)2 ý�û ö�µ¨ Å³¨ ø xi − x̄ ö�µ¨ ¤�ÀÖõ ßþ� ö¢¤ø� ´¨À� ý�Â� .Ý���ð ��÷ ý� �÷�Þ÷ Å÷�þ¤�ø �Â÷� �îÀû��¡ ö� ¤Á� �î �¤ ¤��ãõ é�Â½÷� ¤�ÀÖõ ,Å÷�þ¤�ø ö¢¤ø� ´¨À� ¥� Àã� .¢�ª Âµ÷�¨� �±¨�½õ ¤�î �� Ý��î üõ �ê�®� ñøÀ� �� �¤:À��î ´ì¢ Âþ¥ ñ�·õ �� .Sx =
√

S2
x Å� Ýþ¤ø� üõ ´¨À� ,¢��:´¨� ù¢�� Âþ¥ �¤�Ê� ¤�õ� §¤¢ ¤¢ �ú÷� ¥� ÂÔ÷ 20 ��ÂÞ÷ ,ù�ÚÈ÷�¢ ×þ ö�þ�¹È÷�¢ ¥� ýÂ�ð �÷�Þ÷ ¤¢ 1.1.1 ñ�·õ12 , 16 , 15 , 14 , 13 , 14 , 15 , 13 , 12 , 13 , 14 , 14 , 15 , 14 , 13 , 15 , 16 , 13 , 14 , 15:Ý�Æþ�÷ üõ ß��� �û ù¢�¢ ü÷�ø�Âê ñøÀ� Àª �µÔð �»÷� Õ��Îõ

xi fi Fi fi fixi xi − x̄ (xi − x̄)2 fi(xi − x̄)212 2 2 0/10 24 −2 4 813 5 7 0/25 65 −1 1 514 6 13 0/30 84 0 0 015 5 18 0/25 75 −1 1 516 2 20 0/10 32 −2 4 8âÞ� 20 1 280 26:¢¤ø� ´¨À� �¤ Å÷�þ¤�ø ö��� üõ Â¡� ö�µ¨ ¥� ø x̄ =

∑

fixi

n = 28020 = 14 Ý�Æþ�÷ üõ Ý¹�� ö�µ¨ ¥�
S2

x =

∑

fi(xi − x̄)2
n − 1 =

2619 = 1/37 =⇒ Sx = 1/17�û ù¢�¢ ¢�Àã� Â��Â� ´Æþ�� üõ ÕÜÎõ ý�û ü÷�ø�Âê âÞ� Â¡� ÂÎ¨ �î À��î ´ì¢ü÷�ø�Âê ¤�ÀÖõ ßþÂ¡� ß��»Þû .¢�ª 1 ´Æþ�� üõ ü±Æ÷ ý�û ü÷�ø�Âê á�Þ¹õ ø.´¨� Û��Öõ �¤�Ê� �û ù¢�¢ ßþ� ý��ÎÖ÷ ¤�¢�Þ÷ .¢�� Àû��¡ n üãÞ¹�



8 ¤�õ� .1 ÛÊê�ûù¢�¢ Û�Ü½� 2.1ýø¤ �¤ üÔÜµ¿õ ý�û¤��ãõ ø �ûÂµõ�¤�� ´¨� �¥� ü��ú÷ ýÂ�ð Ý�ÞÊ� ý�Â� ,ü÷�ø�Âê ñøÀ� ø �û ù¢�¢ ý¥�¨ °�Âõ ¥� Å�É¡�ª :¢�ª üõ ��¹÷� É¡�ª á�÷ ø¢ �� ��ä�Ï� Û�Ü½� .¢�ª ��¹÷� �û¤��ãõ ßþ� §�¨� Â� ýÂ�ð Ý�ÞÊ� �� ¢�Þ÷ ù¢��� �ú÷�§�¨�Â� �ãõ�� üa Þî ���¬�Ê¡ ø ùÀª Û¬�� �û ù¢�¢ ¥� �î ´Æþ¤�ÀÖõ ý¢Àä É¡�ª .ü¨À�û ý�û É¡�ª ø ý¢Àä ý�û.üðÀ�Èî ø üÚó�� ,üðÀ�î�Â� ý�û É¡�ª ,ý�îÂõ ý�û É¡�ª ¥� À��¤�±ä ý¢Àä ý�û É¡�ª á��÷� .¢¢Âð üõ ß��ã� �ú÷�.À�µÆû �û¤�¢�Þ÷ ö�Þû ��÷ ü¨À�û ý�ûÉ¡�ªý�îÂõ ý�ûÉ¡�ª 1.2.1ý�ûù¢�¢ �� ���� �� .¢�ª üõ ùÀ�õ�÷ ý�îÂõ É¡�ªÀ�î üõ É¿Èõ �û ù¢�¢ ß�� ¤¢ �¤ ÂÑ÷ ¢¤�õ ´Ô¬ �îÂÞ� �î üÊ¡�ª.´¨� ù¢�Þ÷ ¢�¹þ� ��Ö� �� ´±Æ÷ ü¬�¡ üðÄþø ø �îÂÞ� �ûù¢�¢ ¥� ý¢�Àã� ýÂ�ð¤�Âì �î ¢�ª üõ ùÀþ¢ ,üê¢�Ê� �f õ�î �b ÷�Þ÷ ×þ�Þ÷ �þ Àõ .Àõ ø �÷��õ ,ß�Ú÷��õ ¥� À��¤�±ä ý�îÂõ ý�û É¡�ª ßþÂµÞúõ .´¨�ûù¢�¢ Â·î� �îÂÞ� Û½õ ,ý�îÂõ É¡�ª ßþ�Â����.M = 14 ßþ�Â���� ø ù¢�� ü÷�ø�Âê ßþÂµÈ�� ý�¤�¢ 14 ùb¢�¢ 1.1.1ñ�·õ ¤¢ .´¨� ü÷�ø�Âê ßþÂµÈ�� ý�¤�¢ �î ´¨� ý� ù¢�¢ (M)ß�Ú÷��õ À÷�ª âì�ø Ýû ¤��î ¤¢ �û ù¢�¢ Âð� - ýÀõ ø¢ ý�û ù¢�¢ ´�ã®ø - À�µÆû ß�È�� ü÷�ø�Âê ø¢ ý�¤�¢ �ûù¢�¢ �î ý¢¤��õ ¤¢�Þû �û ù¢�¢ Âð� .À÷�ª üõ ��Æ½õ Àõ �ú÷� ��Þ� À�ª�±÷ Ýû ¤��î ¤¢ �û ù¢�¢ �Ø�µó�� ¤¢ ø ÝþÂ�ð üõ ÂÑ÷ ¤¢ Àõ ö���ã� �¤ �ú÷�°�Âõ ¥� Å� ,�÷��õ ö¢¤ø� ´¨À� ý�Â� ßþ�Â���� .Í¨ø ùb¢�¢ ¥� ´Æ�¤�±ä (m) �÷��õ ¥� ¤�Ñ�õ .Ýþ¤�À÷ Àõ À�ª�� �µª�¢ Â��Â� ü÷�ø�Âê�ûù¢�¢ ¢�Àã� Âð� .Ý�õ�÷ üõ �÷��õ �¤ ´¨� Â��Â� ö� ¥� Û±ì ý�û ù¢�¢ ¢�Àã� �� ö� ¥� Àã� ý�ûù¢�¢ ¢�Àã� �î �¤ ý¤�ÀÖõ ,�ûù¢�¢ ö¢ÂîÍ¨ø ùb¢�¢ ø¢ ß�Ú÷��õ ¥� ´Æ�¤�±ä �÷��õ ,�ûù¢�¢ ¢�Àã� ö¢�� �ø¥ �¤�¬ ¤¢ ø m = xn+12 ¢�� Àû��¡ �÷��õ üÎ¨ø ùb¢�¢ Àª�� ¢Âê:Ý��î °�Âõ �¤ �û ù¢�¢ Âð� 1.1.1 ñ�·õ ¤¢ .m = 12 (xn2 + xn2 +1)12 , 12 , 13 , 13 , 13 , 13 , 13 , 14 , 14 , 14 , 14 , 14 , 14 , 15 , 15 , 15 , 15 , 15 , 16 , 16.m = 14 ßþ�Â���� ´¨� �ø¥ �û ù¢�¢ ¢�Àã� ö��5 , 6 , 2 , 3 , 4 , 3 , 2 , 4 , 3 , 5 À����� Âþ¥ ý�û ù¢�¢ ý�Â� �¤ ý�îÂõ ý�ûÉ¡�ª 1.2.1 ñ�·õ2 , 2 , 3 , 3 , 3 , 4 , 4 , 5 , 5 , 6 Ý��î üõ °�Âõ �¤ �û ù¢�¢ .Û�
x̄ =

∑n
i=1 xi

n
=

∑10
i=1 xi10 =

2+ 2+ 3+ 3+ 3+ 4+ 4+ 5+ 5+ 610 = 3/7.m = 3+42 = 3/5Å� À�µÆû �ø¥ �û ù¢�¢ ¢�Àã� ö�� ø M = 3 ßþ�Â���� ´¨� ü÷�ø�Âê ßþÂµÈ�� ý�¤�¢ 3 ùb¢�¢:´¨� ùÀõ� ´¨À� ß��� �ú÷� ß¨ �÷�Þ÷ �¨¤Àõ ×þ ö�¥�õ� Ç÷�¢ ùÂÔ÷ 20 �÷�Þ÷ ×þ ¤¢ .ü¨�î 1.2.1ßþÂÞ�7 ø 8 ø 6 ø 7 ø 8 ø 9 ø 8 ø 9 ø 10 ø 8 ø 7 ø 6 ø 7 ø 7 ø 6 ø 9 ø 8 ø 10 ø 7 ø 8.À����� �¤ ý�îÂõ ý�ûÉ¡�ª ø Å÷�þ¤�ø ø ß�Ú÷��õ ,�û ù¢�¢ ü÷�ø�Âê ñøÀ� Ý¨¤ ¥� Å�



9 ¤�õ� .1 ÛÊêüðÀ�î�Â� ý�ûÉ¡�ª 2.2.1´Æ�÷ �û ù¢�¢ Ûî ö¢�� ��� ü�ãõ �� �÷�Þ÷ ×þ ¤¢ ß�Ú÷��õ ö¢�� ��� üóø ,´¨� ýÂ�ð Ý�ÞÊ� ¤¢ üÞúõÉ¡�ª ß�Ú÷��õ �Ø�þ� ��ßþ�Â���� ø À�ª�� 10 ×þ¢�÷ ��ÂÞ÷ Âþ�¨ ø Àª�� 20 ùbÂÞ÷ À�� ÂÏ�¿� �ú�� ´¨� ßØÞõ §�î ×þ ��ÂÞ÷ ß�Ú÷��õ ö¢�� ��� �f ·õý¤ø¢ «�Ê¿� ø �ø�Ô� ßþ� ö���õ ø �û ù¢�¢ �ø�Ô� À÷��� üõ �î ý¤��ãõ .À÷�ª �Æþ�Öõ ��÷ �÷��õ �� �f ·õ ´Æþ�� üõ �û ù¢�¢,Å÷�þ¤�ø ¥� À��¤�±ä üðÀ�î�Â� ý�û É¡�ª ßþÂµÞúõ .Ý�õ�÷ üðÀ�î�Â� É¡�ªÀ�î ö��� �õ ý�Â� ß�Ú÷��õ ¥� �¤ �ú÷� üØþ¢�÷ �þø ´¨� Â��ç� ø �ø�Ô� ü�ãõ �� �î ¢Âî ù¤�ª� Å÷�þ¤�ø �� ö��� üõ ,É¡�ª ßþÂµú� ö���ã� .��Â��ç� °þÂ® ø ¤��ãõ é�Â½÷�Å÷�þ¤�ø ßþ�Â���� ,¢�ª üõ ×��î Å÷�þ¤�ø ,À�ª�� x̄ ×þ¢�÷ �û ù¢�¢ Âð� .ß�Ú÷��õ ¥� ��ê�Â½÷� ¤øÁ¹õ ß�Ú÷��õ ¥� ´Æ�¤�±äé�Â½÷� �î ö� ¤Á� ¥� ,À�î üõ â�Âõ �¤ �û ù¢�¢ À��ø Å÷�þ¤�ø ö�� �õ� .´¨� x̄ ¥� �û ù¢�¢ üðÀ�î�Â� Ç¹�¨ ý�Â� ü��¡ ¤��ãõø ´¨� xi À��ø ö�Þû ¤��ãõ é�Â½÷� À��ø .Ý�û¢ üõ ö�È÷ Sx �� ø Ý��î üõ ù¢�Ôµ¨� ¢�ª üõ ùÀ�õ�÷ ¢¤�À÷�µ¨� é�Â½÷� �þ ¤��ãõ�Þû �ûù¢�¢ Âð� «�¡ ´ó�� ¤¢ ø ´¨� x̄ ß�Ú÷��õ ¥� é�Â½÷� ,¤��ãõ é�Â½÷� âì�ø ¤¢ .À�î üõÉ¿Èõ �¤ �û ù¢�¢ ü±Æ÷ üðÀ�î�Â�.À�µÆ�÷ üðÀ�î�Â� ý�¤�¢ �î ´¨� ÂÔ¬ �ú÷� Å÷�þ¤�ø À�ª�� Â��Â�:´¨� ùÀõ� ´¨À� Âþ¥ ý�û ùÂÞ÷ ¤�õ� §�î ø¢ ö�þ�¹È÷�¢ ¥� 2.2.1 ñ�·õ
A : 14 ø 17 ø 13 ø 15 ø 14 ø 18 ø 14

B : 11 ø 19 ø 10 ø 17 ø 14 ø 18 ø 20 ø 15 ø 11.SB = 3/74 ø SA = 1/82 ø ´¨� ÂµÈ�� B §�î üðÀ�î�Â� üóø ´¨� 15 Â��Â� ø¢ Âû ßþ� ¤¢ �û ùÂÞ÷ ß�Ú÷��õ �Ø�þ� ��.Vx = Sx

x̄ ß�Ú÷��õ Â� ¤��ãõ é�Â½÷� ´ÞÆì �¤�¡ ¥� ´Æ�¤�±ä �î ´¨� Vx ��Â��ç� °þÂ® üðÀ�î�Â� ö���õ ý�Â� ýÂÚþ¢ ¤��ãõ.´¨� À��ø ¥� ÛÖµÆõ °þÂ® ßþ� .ß�Ú÷��õ ¥� À��ø ×þ ý�¥�� üðÀ�î�Â� ö���õ ¥� ´Æ�¤�±ä ��Â��ç� °þÂ® ÂÚþ¢ ü�¤�±ã�¢¤�À÷�µ¨� é�Â½÷� ø ´ä�¨ 9000 ÂÞä ß�Ú÷��õ ý�¤�¢ A á�÷ .À�î üõ À�ó�� ü��ø 100 ²õ� á�÷ ø¢ ý� �÷�¡¤�î 3.2.1 ñ�·õÂµú� ²õ� á�÷ ��Àî .´¨� ´ä�¨ 1200 ¢¤�À÷�µ¨� é�Â½÷� ø ´ä�¨ 10000 ÂÞä ß�Ú÷��õ ý�¤�¢ B á�÷ ø ´ä�¨ 1800.?´¨�:Ý��î üõ ��Æ� á�÷ ø¢ Âû ý�Â� �¤ ��Â��ç� °þÂ® .Û�
VA =

18009000 = 0/20 = %20 VB =
120010000 = 0/12 = %12.´¨� ýÂµÞî Â��ç� °þÂ® ý�¤�¢ Ýû ø ¢¤�¢ ýÂµÈ�� ß�Ú÷��õ Ýû �Âþ¥ ´¨� Âµú� B á�÷.À��î �Æþ�Öõ Ýû �� �¤ §�î ø¢ ßþ� ,�µê�þ �¤ 2.2.1ñ�·õ ¤¢ ¤�îÁõ §�î ø¢ ��Â��ç� °þÂ® .ü¨�î 2.2.1ßþÂÞ��û¤�¢�Þ÷ 3.2.1Âþ�Ê� ¢�¹þ� ý�Â� üØÞî ø ü¨À�û ý�û É¡�ª �û¤�¢�Þ÷ .´Æ��ä�Ï� Û�Ü½� ý�Â� üªø¤ ø �û ù¢�¢ ü¨À�û Çþ�Þ÷ ¤�¢�Þ÷ø À�î üõÉ¿Èõ �¤ �ûù¢�¢ üðÀ�î�Â� ø ýÂ�Úþ�� ö���õ ýÀ� �� ¤�¢�Þ÷ ,�÷�Þ÷ ×þ ¥� ý¥�¨Âþ�Ê� ý�Â� ø ù¢�� �û ù¢�¢ ¥� ü�û£üõ ö��� �¤ �ú÷� ßþÂµÞúõ �î ¢¤�¢ ¢��ø �û¤�¢�Þ÷ ¥� üÔÜµ¿õ á��÷� .¢¢Âð üõ ��Æ½õ ýÂ�ð Ý�ÞÊ� ý�Â� üÊ¡�ª °��Â� ßþÀ�



10 ¤�õ� .1 ÛÊê.´¨� ýÂµÈ�� ¢Â�¤�î ý�¤�¢ ö� á�÷ À�� �ú�� �î (21ßþÂÞ�) ´¨� ¢�þ¥ �ûù¢�¢ ýÂ�ð¤�Âì ÛØª ���¤� ý�Â� ¤�¢�Þ÷ á��� �µ±ó� .Ý��î:¢�Þ÷ ù¤�ª� Ûþ£ ¢¤��õ �� ö��� üõ ¤�¢�Þ÷ Ýúõ á��÷� ¥�¤�Ø� ùÀª ýÀ�� �µ¨¢ ý�ûù¢�¢ ø �µ¨��� ý�û ù¢�¢ ö¢�¢ ö�È÷ ý�Â� ÂµÈ�� �î ü÷�µ¨ ¤�¢�Þ÷ �þ ��Âð�µÆ�û �þ üµê�� ¤�¢�Þ÷ (Óó��� °¨��µõ �¤ �û Û�ÎµÆõ á�Ô�¤� ø ù¢�� �û Û�ÎµÆõ ­Âä �û �µ¨¢ ,¤�¢�Þ÷ á�÷ ßþ� ¤¢ ,´¨� Â� ù¢�¨ ÂÚþ¢ á��÷� ¥� ø ¢ø¤ üõ.(a Âþ�Ê�) Ý��î üõ ��¿µ÷� �û�µ¨¢ ü÷�ø�Âê.(b Âþ�Ê�) ´¨� Â��Â� ��÷ �û �Ü�õ ­Âä ø ´¨��¹õ ý�ú÷�µ¨ �� üóø üµê�� ¤�¢�Þ÷ À�÷�õ ý��Ü�õ ¤�¢�Þ÷ (�

Â� üÞÜä ¤�¢�Þ÷ á�÷ ßþ� ø Ý��î üõ ÛÊµõ Ýú� �¤ �û ù¢�¢ ¯�Ö÷ ö�¤¢ �î (üãÜ®À��) üÎ¡ ¤�¢�Þ÷ �þ ü÷�ø�ÂêÂ�À�� ¤�¢�Þ÷ (�À÷�ª üõ Ý�¨Â� ��Êµ¿õ �b½Ô¬ ¯�Ö÷ À�÷�õ ¤�¢�Þ÷ ¯�Ö÷ ,¢�Þ÷ �Æþ�Öõ ¢¤ø� Ý�û��¡ �fÀã� �î ñ�õÂ÷ ¤�¢�Þ÷ �� �Â÷� ö��� üõ ø ù¢���¤�Ê� �¤ �û Û�ÎµÆõ ý��� Í¨ø Âð� ,¤�¢�Þ÷ á�÷ ßþ� ¤¢.¢�¢ À�û��¡ Û�ØÈ� �¤ ¯�Ö÷ ­Âä �û fi ø ¯�Ö÷ ñ�Ï xi �ú÷� ¤¢ �î.(c Âþ�Ê�) Ý�õ�÷ ü÷�ø�Âê Â�À�� ¤�¢�Þ÷ �Â÷� �¤�Ê�þ�¤¢ ,Ý��î Û¬ø Ýú� �¤ �ú÷� ø ÝþÂ�Ú� ÂÑ÷ ¤¢ ý��ÎÖ÷ý¢�ã¬ ¤�¢�Þ÷ ßþ� ,Ý��î üõ ù¢�Ôµ¨� üãÞ¹� ü÷�ø�Âê ¥� �ú®Âä ö�µ¨ ¤¢ ÕÜÎõ ü÷�ø�Âê ý�¹� �î üãÞ¹� ü÷�ø�Âê ¤�¢�Þ÷ (¢üØª�� À�÷�õ üÔÜµ¿õ ý¢¤��õ ¤¢ ¤�¢�Þ÷ ßþ� ø Àþ� üõ ¢���� ���ø� �þ üÞî�Â� üãþ¥�� Àª�� �µ¨��� Â�çµõ Âð� ´ó�� ßþ� ¤¢ ù¢��.(d Âþ�Ê�) ¢¤�¢ ¢Â�¤�îü±Æ÷ ü÷�ø�Âê ¤�¢�Þ÷ ,ÕÜÎõ ü÷�ø�Âê ý�¹� á�÷ ßþ� ¤¢ ü±Æ÷ ü÷�ø�ÂêÂ�À�� (ûùÀª Ý¨¤ ¤�¢�Þ÷ ßþ� ¢�ª üõ �Æþ�Öõ �÷�Þ÷ Ûî �� ��ä�Ï� ö�� ,Ý��î Ý¨¤ �¤.´ª�¢ Àû��¡ ö��� �¤ ü±ó�� ��ä�Ï�ßþ� ¤¢ .´¨�ú÷� �Æþ�Öõ ø �û ù¢�¢ ÝÆ¹� ý�Â� �î (ý����Üî) ý� ùÂþ�¢ ¤�¢�Þ÷ (øü÷�ø�Âê Ý�¨Â� ,¢�ª üõ ��¹÷� ´ä�¨ ý�û ��ÂÖä ´ú� é�¡ ¤¢ �î ýÀ�� Ý�ÆÖ� á�÷Â��Â� ùÀª �µêÂð ÂÑ÷ ¤¢ �b þø�¥ ¤�ÀÖõ .¢�� Àû��¡ ùÂþ�¢ ×þ ýø¤ Â� �û ù¢�¢ ü±Æ÷.´¨� ùÀª ù¢�¢ ö�È÷ 1.1.1 ñ�·õ ý�ûù¢�¢ ý�Â� ý� ùÂþ�¢ ¤�¢�Þ÷ .¢�� Àû��¡ (��¤¢) 2πf̄ = 360× f̄



11 ¤�õ� .1 ÛÊê�ûù¢�¢ ýÀ���µ¨¢ 4.2.1üõ ýÀ�� �µ¨¢ �¤ �û ù¢�¢ ,��±¨�½õ ¢�þ¥ Ý¹� ¥� ýÂ�ð�Ü� ý�Â� ,Àª�� Ýî �ú÷� ¥� ��Àî Âû ü÷�ø�Âê ø ù¢�� ¢�þ¥ �ûù¢�¢ á��� Âð�ñøÀ� Àã� ø Ý��î üõ ß�ãõ �¤ �µ¨¢ Âû ñ�Ï ø �û�µ¨¢ ¢�Àã� Å³¨ ø ù¢¤ø� ´¨À� �¤ R ��Â��ç� �b �õ�¢ �Àµ�� ©ø¤ ßþ� ¤¢ .Ý��î´Æ�¤�±ä ö� ø À�î üõ Â��ç� ö� ¤¢ Â�çµõ �î ý�ù¥�� ñ�Ï ¥� ´Æ�¤�±ä Â�çµõ ×þ R ��Â��ç� �b �õ�¢ .Ý��î üõ Ý¨¤ Û±ì Õ��Îõ �¤ø ¢¤�À÷ üÊ¿Èõ ö�÷�ì T �û�µ¨¢ ¢�Àã� ß��ã� .R = xmax − xmin + 1 Ý�Æþ�÷ üõ ,ù¢�¢ ßþÂµÞî ø ù¢�¢ ßþÂµÈ�� Û®�Ô� ¥��¤�Ê� 11Å��¤�µ¨� ¥� ñ�õÂê ×þ .Ý��î üõ ��¿µ÷� �µ¨¢ 20 �� 5 ß�� �Â÷� �õ �f±ó�è üóø ,ùÀª ���¤� ö� ù¤��¤¢ ü�ø�Ôµõ ��ÂÑ÷:Àþ� üõ ´¨À� Âþ¥ �bÎ��¤ ¥� �û �µ¨¢ ñ�Ï ,T ��¿µ÷� ¥� Å� ÕþÂÏÂú� .´¨� ùÀª ¢�ú�È�� T = 1+ 3/322logn10
c �µ¨¢ ñ�Ï = R

T

ai �î ´¨� [ai, bi) ùb¥�� Ý�÷ �¤�Ê� �µ¨¢ Âû ��¿µ÷� ´ó�� ßþÂµú� .Àª�� ÂµÞî ��Â��ç� ý��õ�¢ ¥� Àþ�±÷ �û�µ¨¢ ñ�Ï á�Þ¹õß���� ö�Âî ø¢ Û®�Ô� �fÞÜÆõ ø xi = ai+bi2 ¥� ´Æ�¤�±ä ��÷ �µ¨¢ ùbÀ�þ�Þ÷ .Ý�õ�÷ üõ �µ¨¢ ý��� ö�Âî �¤ bi ø �µ¨¢ ß���� ö�Âî �¤ø ��� ö�Âî �î ´¨� ßþ� ¢�ª ´ì¢ Àþ�� �û �µ¨¢ ��¿µ÷� ¤¢ �î ý� �µØ÷ .¢�� Àû��¡ c �µ¨¢ ñ�Ï üó��µõ ý��� ö�Âî ø¢ �þ üó��µõ¤�Âì �µ¨¢ ø¢ ¤¢ ý� ù¢�¢ Âð� ­ÂÔ� .¢�ª ©¤�Þª �µ¨¢ ×þ ¤¢ �ú�� ù¢�¢ Âû �î ¢�ª ��¿µ÷� ý� �÷�Ú� ´Æþ�� üõ �µ¨¢ Âû ß�����Ü¬�Ô� ýÀã� �µ¨¢ �Ø�þ� �þ ,¢Â�ð ¤�Âì �µ¨¢ ×þ ¤¢ �ú�� ù¢�¢ �� ¢�ª Ýî (0/5 �f ·õ) ý¤�ÀÖõ �ú÷�Âî üõ�Þ� ¥� ´Æþ�� üõ ´êÂð.À���±� �¤ Âþ¥ ñ�·õ .Àª Àû��¿÷ ¢�¹þ� ù¢�¢ Û¡�À� ��Ö±Ï ß�� °��Â� ßþÀ� bi � ai+1 ¢�ª áøÂª üÜ±ì �µ¨¢ ý��� ö�Âî ¥� üÞî:´¨� ù¢�� Âþ¥ �¤�Ê� �ú÷� ¥� ÂÔ÷ 50 ß¨ ,ù�ÚÈ÷�¢ ×þ ö�þ�¹È÷�¢ ß¨ ¥� ýÂ�ð �÷�Þ÷ ¤¢ 4.2.1 ñ�·õ21 18 22 19 21 30 20 18 35 3020 25 18 17 25 27 22 22 20 2123 20 21 18 19 21 20 19 33 2920 18 35 22 20 30 25 24 22 1719 18 20 19 25 26 20 21 18 20Å� Ý��î ��¿µ÷� 5 �¤ �µ¨¢ ¢�Àã� Âð� R = xmax − xmin + 1 = 35− 17+ 1 = 19 Ýþ¤�¢ ü��� 50 �÷�Þ÷ ßþ� Õ��Îõ�µ¨¢ ñ�Ï = 195 ∼ 4ßþ� âê¤ ý�Â� Àª Àû��¡ �µ¨¢ ø¢ �� ÕÜãµõ 21 ùb¢�¢ ,Ý��î ��¿µ÷� ... ø 21 − 25 ø 17 − 21 �¤�Ê� �û�µ¨¢ ��¿µ÷� ��:Àþ�üõ¤¢ Âþ¥ �¤�Ê� �ûù¢�¢ ü÷�ø�Âê ñøÀ� ø Ý��î üõ ��¿µ÷� 0/5 é�µ¡� �� �¤ �û �µ¨¢ ,üÚµ¨¢ø¢�û�µ¨¢ ùÀ�þ�Þ÷�µ¨¢ xi fi Fi fi fixi xi − x̄ (xi − x̄)2 fi(xi − x̄)216/5− 20/5 18/5 24 24 0/48 444 −3/92 15/37 368/7920/5− 24/5 22/5 13 37 0/26 293 −0/08 0/01 0/083224/5− 28/5 26/5 6 43 0/12 159 4/08 16/65 99/87828/5− 32/5 30/5 4 47 0/08 122 8/08 65/29 261/1532/5− 36/5 34/5 3 50 0/06 104 12/08 145/93 437/78âÞ� 50 1 1121 1167/7.´¨� ùÀª �¹�µ÷ n = 2T−1 ¥� ñ�õÂê ßþ� ,Sturges11



12 ¤�õ� .1 ÛÊê:¢�Þ÷ �±¨�½õ �¤ Âþ¥ Âþ¢�Öõ ö��� üõ ��� ñøÀ� ¥�
x̄ =

∑

xifi

n
=
112150 = 22/42 , S2

x =

∑

fi(xi − x̄)2
n − 1 =

1167/749 = 23/83 =⇒ Sx = 4/88
Vx =

Sx

x̄
=

4/8822/42 = 0/218 = %22 .´¨� Û��Öõ �¤�Ê� �ûù¢�¢ ¤�¢�Þ÷:ùÀª ýÀ�� �µ¨¢ ý�û ù¢�¢ ¤¢ �÷��õ
n Âð� �û ù¢�¢ ü÷�ø�Âê ñøÀ� ¥� ù¢�Ôµ¨� �� �÷��õ ö¢¤ø� ´¨À� ý�Â�¥� �Ü¬�ê�� ö� üãÞ¹� ü÷�ø�Âê �î ý��µ¨¢ ß���� À� ai ø �û ù¢�¢ ¢�Àã�ü÷�ø�Âê Fi−1 ø ��-i �µ¨¢ ÕÜÎõ ü÷�ø�Âê fi ø Àª�� ýø�Æõ �þ ÂµÈ�� n212 ¥� ´Æ�¤�±ä �÷��õ Å³¨ Àª�� ��-i �µ¨¢ Û±ì�õ �µ¨¢ üãÞ¹�

m = ai +
n2 − Fi−1

fi
cýø�Æõ �þ ÂµÈ�� ö� ¥� F2 = 37 üãÞ¹� ü÷�ø�Âê Å� n2 = 25 ö�� Û±ì ñ�·õ ¤¢ .(c = ai − ai−1) ´¨� ��Ö±Ï �Ü¬�ê c �î��� ñ�õÂê Õ±Ï c = 20/5− 16/5 = 4 ø i = 2 ø ´¨�

m = 20/5+
25− 2413 4 = 20/8 ∈ [20/5,24/5]ùb¢�¢ üÜ¬� ©ø¤ ¥� ø À��î °�Âõ �¤ �û ù¢�¢ Âð�Àû��¡ m = 21 Â��Â� üãì�ø �÷��õ À����� �¤ Í¨ø¤�¢�Þ÷ ¥� ù¢�Ôµ¨� �� �÷��õ ö¢¤ø� ´¨À� ý�Â� .¢��¤¢ �¤ üóø�÷ ø ý¢�ã¬ üãÞ¹� ü÷�ø�Âê ´Æ�ê�î�÷��õ �ú÷� âÏ�Ö� ,Ý��î Ý¨¤ ��Êµ¿õ �½Ô¬×þ.¢�� Àû��¡:Ý��î üõ ù¢�Ôµ¨� Âþ¥ ñ�õÂê ¥� ýÀ�� �µ¨¢ ý�û ù¢�¢ ¤¢Àõ ö¢¤ø� ´¨À� ý�Â� :ùÀª ýÀ�� �µ¨¢ ý�û ù¢�¢ ¤¢ Àõ

M = ai +
d1

d1 + d2 c

d1 ,Àª�� ��Ö±Ï �b Ü¬�ê c ø �µ¨¢ ß���� ö�Âî ai Âð� ,(ü��Þ÷ ùb¢¤ �þ �µ¨¢) ´¨� ü÷�ø�Âê ßþÂµÈ�� ý�¤�¢ �î ý� �µ¨¢ ßµê�þ ����� ñ�·õ ý�Â� .´¨� ýÀã� �b µ¨¢ �� �µ¨¢ ü÷�ø�Âê �ø�Ô� d2 ø üÜ±ì �b µ¨¢ �� �µ¨¢ ü÷�ø�Âê �ø�Ô�
M = ai +

d1
d1 + d2 c = 16/5+

2424+ 114 = 19/24.(Ýþ� ù¢¤ø� ´¨À� °ÜÎõ üµ¨¤¢ ø �Æþ�Öõ ý�Â� �ú�� �¤ ¤�ÀÖõ ßþ� �µ±ó�) ¢�� Àû��¡ M = 20 Ý��î °�Âõ �¤ �û ù¢�¢ Âð� ø.À��î ù¢�Ôµ¨� n+12 ¥� n2 ý�¹� �ø¥ n ´ó�� ¤¢ Àþ�ð üõ üÆ�ÜÚ÷� ö�¢¤�õ� kendall ñ�À�î12



13 ¤�õ� .1 ÛÊê�û¤ø�µÈð 5.2.1
r �b ±�Âõ ¤ø�µÈð m′

r ø r �b ±�Âõ ý�îÂõ ¤ø�µÈð mr ¤�ÀÖõ ,fn ø · · · ø f2 ø f1 ý�û ü÷�ø�Âê �� xn ø · · · ø x2 ø x1 ùb¢�¢ n ý�Â�:À÷�ª üõ ÓþÂã� ß��� ø
mr =

1
n

n
∑

i=1 fi(xi − x̄)r , m′

r =
1
n

n
∑

i=1 fix
r
i.m2 ≃ S2

x ß��»Þû ø m′1 = x̄ , m1 = 0 ø m′0 = m0 = 1 �î Àþ¢ ö��� üõ�ê�®� fi(xi− x̄)3 ø fix
3
i ý�û ö�µ¨ ö���ã� ÀþÀ� ö�µ¨ ø¢ ,4.2.1ñ�·õ ü÷�ø�Âê ñøÀ� ¥� ù¢�Ôµ¨� �� .ü¨�î 3.2.1ßþÂÞ�.Àþ¤ø� ´¨À� �¤ m′3 ø m3 ý�û¤ø�µÈð Âþ¢�Öõ �ú÷�µ¨ ßþ� á�Þ¹õ �b ±¨�½õ �� ø ù¢ÂîüðÀ�Èî ø üÚó�� 6.2.1.´¨� Âþ¥ ü�½�õ �¤�Ê� �ãõ�� ü�½�õ �î ¢�ª üõ ùÀþ¢ ü¨À�û É¡�ª Ý¨¤ ø �û ù¢�¢ ü¨¤Â� �� , ñ�õÂ÷ �b ãõ�� ×þ ¤¢,ö¤�Öµõ âþ¥�� ßþ� ¤¢ .Àû¢ üõ ö�È÷ �¤ ñ�õÂ÷ �f õ�î �b ãõ�� ÛØª ø ù¢�� ¤�úÈõ ñ�õÂ÷ ü�½�õ �þ ý��ó�Ú÷¥ ü�½�õ �� ü�½�õ ßþ�´ê�þ üó�õÂ÷ �f õ�î �b ÷�Þ÷ º�û �f Þä �î�¹÷� ¥� .À÷�ª üõ âì�ø ¤�¢�Þ÷ ö¤�Ö� ¤�½õ ýø¤ ø ù¢�� Â��Â� ß�Ú÷��õ ø �÷��õ ,Àõ ¤�ÀÖõßþ�Â���� .´ê�þ¤¢ ö��� üõ �¤ �ûù¢�¢ ¤¢ é�Â½÷� ö���õ ,ñ�õÂ÷ ¤�¢�Þ÷ �� ö� �bÆþ�Öõ ø �÷�Þ÷ ×þ ý�û ù¢�¢ ¤�¢�Þ÷ Ý¨¤ �� ,¢�ª üÞ÷¢¤��õ ü¡Â� ¤¢ �þ (4.2.1ñ�·õ À�÷�õ) ÛØª -J ,�óø�� ,ñ�õÂ÷ ü�½�õ ��±ª ö� ÛØª �f �Þãõ ,ü÷�ø�ÂêÂ�À�� ¤�¢�Þ÷ Ý�¨Â� ¥� Å��� �¤ �û ù¢�¢ ü�½�õ Ý�÷��� üõ Å� ,Àª�� ÂÑ÷ ¢¤�õ ´Ô¬ à�½ó ¥� ý¤�õ� �b ãõ�� ö¢�� ñ�õÂ÷ �õ ¤��ãõ Âð� .¢�� Àû��¡ ÛØª-Uö¤�Öµõ âþ¥�� ¥� �¤ �û ù¢�¢ ý¤ø¢ ¤�ÀÖõ �î é�Â½÷� ¤�ÀÖõ ßþ� .Ýþ¤ø� ´¨À� �¤ �û ù¢�¢ é�Â½÷� ¤�ÀÖõ ø ùÀ�¹�¨ ñ�õÂ÷ ü�½�õ.¢�ª üõ �µ¡��ª üÚóø�� ö���ä ´½� Àû¢ üõ ö�È÷

²� �� �ó�� ø ´¨�¤ �� �ó�� ü�½�õ ö���ä ´½� ,À�ú�±ª ñ�õÂ÷ ¤�¢�Þ÷ �� �û ù¢�¢ öÀª �ó�»õ üÞî �� �î ë�ê ¤�¢�Þ÷ ø¢Â� ùÀ�Èî ´¨�¤ ´Þ¨ �� ��õ�¢ Âð� ø ²� �� �ó�� �Â÷� Àª�� Â� ùÀ�Èî ²� ´Þ¨ �� ��õ�¢ �û ü�½�õ ßþ� ¤¢ üµìø .À��ÂÎõ�¤ ¤�¢�Þ÷ ×þ üÚó�� ö���õ .À÷� ùÀª âÞ� ²� éÂÏ ¤¢ �û ù¢�¢ Â·î� ü�ãþ ´¨�Â� �ó�� Å� .Ý���ð ´¨�Â� �ó�� �Â÷� Àª��üõ ´¨À� Âþ¥ ý�û ñ�õÂê Õ��Îõ g üÚó�� ý¤ø�µÈð °þÂ® ø b2 ß¨Â�� �ø¢ üÚó�� ø b1 ß¨Â�� ñø� üÚó�� ý�ú¨��Öõ Í¨��.Ýþ¤ø�
b1 =

x̄ − M

Sx
, b2 = 3 x̄ − m

Sx
, g =

m3
S3

x



14 ¤�õ� .1 ÛÊê�� �ó�� ¤�¢�Þ÷ À�ª�� ´±·õ üÚó�� ¤��ãõ �¨ ßþ� Âð� ÂÚþ¢ ý�û¤�¢�Þ÷ ¤¢ .´¨� ÂÔ¬ g �¹�µ÷¤¢ ø m3 = 0 ñ�õÂ÷ ¤�¢�Þ÷ ý�Â�ñø�À� Û·õ) ¢�ª üÞ÷ �±¨�½õ ´ìÀ� Û��Æõ ü¡Â� ¤¢ Àõ �Ø���¹÷� ¥� .¢�� Àû��¡ ²� �� �ó�� ¤�¢�Þ÷ À�ª�� üÔ�õ Âð� ø ´¨�¤ÂÑ÷ ¥� ø À÷Â��Â� Ýû �� Ç���Þî øÀ�þ� .¢Â� üõ ùÂú� �÷��õ ¥� �î ¢Âî ù¢�Ôµ¨� b2 °þÂ® ¥� ö��� üõ ,b1 °þÂ® ý�¹� ,(ýÀõÀ��.´¨� −1 < b1, b2 < 1 �î ùÀª ùÀþ¢ ü�Â¹�.À��î �±¨�½õ �¤ üÚó�� °þ�Â® ,´¨� ´¨�¤ �� �ó�� ¤�¢�Þ÷ �î 4.2.1ñ�·õ ¤¢ 4.2.1ßþÂÞ�ÛØª à�½ó ¥� üóø À�ª�� ýø�Æõ üÚóø�� üµ� ø üðÀ�î�Â� ø ß�Ú÷��õ à�½ó ¥� ÓÜµ¿õ ý�û ù¢�¢ ´¨� ßØÞõ ß��»Þû
β2 = m4

S4
x

�¤�Ê� °þÂ® ×þ �� (ü¿� �þ üÚµÆ�Â�) üðÀ�Èî ¤�ÀÖõ ßþ� ,Àª�� Â� ùÀ�Èî ��� ´ÞÆ� �f ·õ À�ª�� �ø�Ôµõ ýÂû�Ò.´¨� β2 = 3 Â��Â� ø ùÀª �±¨�½õ ñ�õÂ÷ ü�½�õ ý�Â� üðÀ�Èî ¤�ÀÖõ .À�õ�÷ ß¨Â�� üðÀ�Èî °þÂ® �Â÷� �î ¢�ª üõ ö���ý�Â� ÂÈ�ê .´¨� Â� ¾� ø Âµû���î ñ�õÂ÷ ü�½�õ ¥� β2 < 3 Âð� ø Â�À�Ü� ñ�õÂ÷ ü�½�õ ¥� �û ù¢�¢ âþ¥�� β2 > 3 Âð� ßþ�Â����ùÀ�Èî ��� éÂÎ� Â�À�Ü� ñ�õÂ÷ ü�½�õ ¥� �û ù¢�¢ ü�½�õ γ > 0 Âð� Å� À�î üõ ¢�ú�È�� �¤ γ = β2 − 3 ¤�ÀÖõ üðÀ�Èî °þÂ®.´¨� Â� Ûþ�Þµõ �û ù¤��î éÂÎ� ø Âµû���î ñ�õÂ÷ ü�½�õ ¥� γ < 0 Âð� ø ´¨�´¨À� Âþ¥ �¤�Ê� ÂµÞ�µ÷�¨ °Æ�Â� ´¡¤¢ 25 ÂÎì �b ÷�Þ÷ ,ý¤�µØû 30 å�� ×þ ö�µ¡¤¢ ¥� ýÂ�ð�÷�Þ÷ ×þ ¤¢ 5.2.1 ñ�·õ:´¨� ùÀõ�30 25 23 20 3918 35 34 25 3227 23 31 37 2625 42 37 24 3028 22 35 31 29.Àþ¤ø� ´¨À� �¤ ��¨ ø �ø¢ ,ñø� �±�Âõ ý�û¤ø�µÈð ø �µê�þ �¤ üðÀ�î�Â� ø ý�îÂõ ý�ûÉ¡�ª ,ü÷�ø�Âê âþ¥�� ñøÀ� Ý¨¤ ��.À�Æþ��� �¤ üÚó�� °þ�Â® ø ù¢�Þ÷ É¿Èõ �¤ �û ù¢�¢ üÚó�� ,ý� �Ü�õ ø ü÷�ø�ÂêÂ�À��¤�¢�Þ÷ Ý¨¤ ��Å� Ý��î ��¿µ÷� 5 �¤ �µ¨¢ ¢�Àã� Âð� R = xmax − xmin + 1 = 42− 18+ 1 = 25 Ýþ¤�¢ ü���25 �b ÷�Þ÷ ßþ� ¤¢ .Û�¥� �¤ �û ù¢�¢ ,¢Â�ð ¤�Âì �µ¨¢ ×þ ¤¢ ù¢�¢ Âû �Ø�þ� ý�Â� Àª Âî£ �»÷� À�÷�õ .ÝþÂ�ð üõ 5 Â��Â� �¤ �µ¨¢ ñ�Ï ø T = 255 = 5:¢�� Àû��¡ Âþ¥ �¤�Ê� ü÷�ø�Âê ñøÀ� ø Ý��î üõ ¥�è� 17/5�û�µ¨¢ xi fi Fi fi fixi xi − x̄ fi(xi − x̄)2 x2i fix
2
i fix

3
i fi(xi − x̄)317/5− 22/5 20 3 3 0/12 60 −9 243 400 1200 24000 −218722/5− 27/5 25 8 11 0/32 200 −4 128 625 5000 125000 −51227/5− 32/5 30 7 18 0/28 210 1 7 900 6300 189000 732/5− 37/5 35 5 23 0/20 175 6 180 1225 6125 214375 108037/5− 42/5 40 2 25 0/08 80 11 242 1600 3200 128000 266225 1 725 800 4750 21825 680375 1050

x̄ = 29 , S2
x = 33/34 , Sx = 5/77 , Vx = 0/2 = %20

m = ai +
n2−Fi−1

fi

c = 27/5 + 12/5−117 5 = 28/57 , M = ai + d1
d1+d2 c = 22/5 + 55+15 = 26/67

m1 = 0 , m2 = 32 , m3 = 42 , m′1 = 29 , m′2 = 873 , m′3 = 27215
b1 = 0/4 , b2 = 0/22 , g = 0/22 , γ = m4

S4
x

− 3 = 23001024 − 3 = −0/75



15 ¤�õ� .1 ÛÊêø b1 Âþ¢�Öõ ø ù¢�� ´¨�¤ �� �ó�� �û ù¢�¢ ¤�¢�Þ÷ �î ¢�ª üõ ùÀþ¢ ü÷�ø�ÂêÂ�À�� ¤�¢�Þ÷ ¥� ø ù¢�� Ûþ£ �¤�Ê� �û ù¢�¢ ¤�¢�Þ÷.´¨� ¾� �û ù¢�¢ ¤�¢�Þ÷ �î À�î üõÉ¿Èõ γ = −0/75 ÂÈ�ê üðÀ�Èî °þÂ® ¤�ÀÖõ .À��î üõ À�þ�� ü��¿� �¤ ßþ� g ø b2
�ûù¢�¢ Â��ç� 7.2.1

yi = axi + b �î À�ª�� ö��� yn ø · · · ø y2 ø y1 ùb¢�¢ n ø À�ª�� ­øÂÔõ �b ÷�Þ÷ ×þ ý�ûù¢�¢ xn ø · · · ø x2 ø x1 ùb¢�¢ n Âð�¢¤ø� ´¨À� Âþ¥ �¤�Ê� �¤ Sy ø ȳ ö��� üõ Sx ø x̄ ßµª�¢ �� �¤�Ê÷� ¤¢
ȳ = ax̄ + b , S2

y = a2.S2
x , Sy = |a|Sx

yi = xi − 40 �î À��î ­Âê .Ý�õ�÷ üõ xi Â�çµõ �¤ �ú÷� ø �µêÂð ÂÑ÷ ¤¢ �¤ 40 ø 44 ø 42 ø 41 ø 43 ý�û ù¢�¢ ñ�·õ ý�Â�ùø�ã� .´¨� x̄ = 42 �î ÝþÂ�ð üõ �¹�µ÷ ȳ = x̄−40 ø ȳ = 2 �î�¹÷� ¥� ø 0 ø 4 ø 2 ø 1 ø 3 ¥� À��¤�±ä °��Âµ� �û-yi Å�
S2

y =
(3− 2)2 + (1− 2)2 + (2− 2)2 + (4− 2)2 + (0− 2)24 =

104 = 2/5 =⇒ Sy = |1|Sx =⇒ Sx = 2/5
xi Âð� .Ý��î ù¢�Ôµ¨� ý¤�ÁðÀî ©ø¤ ¥� ùÀª ýÀ�� �µ¨¢ ý�û ù¢�¢ ß�Ú÷��õ ö¢¤ø� ´¨À� ý�Â� ´¨� Â� ù¢�¨ ¢¤��õ ü¡Â� ¤¢,��� �¤�Ê� �û ù¢�¢ Â��ç� �� .Àª�� üÎ¨ø �µ¨¢ ù¢�¢ A ø �µ¨¢ ø¢ �b Ü¬�ê c ø ù¢�� ü÷�ø�Âê ñøÀ� ¤¢ ¢���õ ý�û �µ¨¢ ùbÀ�þ�Þ÷.Ý��î üõ �À�� �¤ x̄ ¤�ÀÖõ x̄ = cȳ + A ñ�õÂê ¥� ȳ ßµê�þ ø ñøÀ� �� yi ö�µ¨ ö¢Âî �ê�®� �� yi = xi−A

c �î ÝþÂ�ð üõ ­ÂêÅ÷�þ¤�ø ý�Â� ¢¤�³ª ¼�½Ê� 8.2.1�Î¡ ö�Â±� �� Ý��î üõ Ýî S2
x Å÷�þ¤�ø ¥� �¤ c212 ¤�ÀÖõ ,�û ù¢�¢ ýÀ�� �µ¨¢ ¤¢ �Î¡ öÀª Û¡�¢ ´Üã� �û ù¢�¢ ýÀ�� �µ¨¢ ¤¢:Àþ� üõ ´¨À� Âþ¥ �bÎ��¤ ¥� Ŝ2

x ùÀª ¼�½Ê� Å÷�þ¤�ø ßþ�Â���� .´¨� éøÂãõ ¢¤�³ª ¼�½Ê� �� ¤�ÀÖõ ßþ� ¢�ª
Ŝ2

x = S2
x − c212

ùÀª ��¬� ß�Ú÷��õ 9.2.1´¨� Âµú� ¢¤��õ ßþ� ¤¢ À÷¤�Áð üõ Â���� ß�Ú÷��õ ýø¤ ñ��Âú� Ýî ¢�Àã� ßþ� ö�� À÷¤�¢ �Â� ùb¢�¢ À�� �þ ×þ �î ü��û �÷�Þ÷ ¤¢´¨Âúê ¥� �Â� ý�û ù¢�¢ éÁ� ÂÚþ¢ ©ø¤ .¢Â�ð üÞ÷ ¤�Âì �Â� ù¢�¢ Â���� ´½� �÷��õ �Âþ¥ ,Ý��î ù¢�Ôµ¨� �÷��õ ¥� ß�Ú÷��õ ý�¹�ß�Ú÷��õ ø ù¢�Þ÷ éÁ� ´¨Âúê ý�úµ÷� ø �Àµ�� ¥� �Â� ý�û ù¢�¢ ¢�Àã� �� ,�û ù¢�¢ ö¢Âî °�Âõ ¥� Å� ©ø¤ ßþ� ¤¢ .´¨�û ù¢�¢



16 ¤�õ� .1 ÛÊê45 ùb¢�¢ ¤�ÀÖõ 45 ø 5 ø 4 ø 3 ø 2 ø 1 ý�û ù¢�¢ ¤¢ ñ�·õ ý�Â� .ÝþÂ�ð üõ ¤�Ø� �û ù¢�¢ Ûî ß�Ú÷��õ ö���ã� �¤ �û ù¢�¢ üÖ��õ¢Â� ¤�Ø� ß�Ú÷��õ ý�¹� �¤ m = 3/5 �b ÷��õ ö��� üõ ´ó�� ßþ� ¤¢ .´Æ�÷ ýÀ�Ôõ �îÂÞ� ¤��ãõ 10 ß�Ú÷��õ ø ù¢�� �Â� ý¤�ÀÖõ�Â� ý�û ù¢�¢ ¢�Àã� Âð� .¢�Þ÷ ��¿µ÷� �÷�Þ÷ ý�Â� ,´¨� 3/5 Â��Â� �î �¤ 5 ø 4 ø 3 ø 2 ß�Ú÷��õ �ø¢ ©ø¤ ¥� ù¢�Ôµ¨� �� �þ ø¥� ´Æ�¤�±ä r �b ±�Âõ ùÀª ��¬� ß�Ú÷��õ ,Àª�� r Â��Â� ùÀª °�Âõ �÷�Þ÷
ˆ̄x =

1
n − 2r

n−r
∑

i=r+1xi

�û íÀ�� 10.2.1ù¢Âî ´ÞÆì ø¢ �¤ ü÷�ø�Âê �÷��õ ,À÷¢�� ü÷�ø�Âê ý�¤�¢ �û ù¢�¢ �Ø�µó�� ¤¢ ø ¢Âî üõ Ý�ÆÖ� �µ¨¢ ø¢ �� �¤ �û ù¢�¢ �÷��õ �î ÝþÀþ¢´¨À� Qj üî¤�� ý�û ù¢�¢ ,Ý��î Ý�ÆÖ� �µ¨¢ ¤�ú� �� �¤ �ûù¢�¢ ü÷�ø�Âê ,�÷�Þ÷ ×þ ¤¢ Âð� .¢�Þ÷ üõ ��¿µ÷� �¤ "Í¨ø' ùb¢�¢ øÀì�ê ý�û ù¢�¢ ¤¢ .¢�� Àû��¡ �÷��õ ö�Þû Q2 í¤�� �î ,Ý�µÆû Q3 ø Q2 ø Q1 í¤�� �¨ ý�¤�¢ �ú�� �õ üÜî¤�Î� .À�þ� üõ�� �¤ ö� ¼�½¬ ¤�ÀÖõ ø ù¢Âî �±¨�½õ �¤ j4 (n +1) �¤�±ä Qj í¤�� �b ±¨�½õ ý�Â� -�û ù¢�¢ ö¢Âî °�Âõ ¥� Å� - ýÀ�� �µ¨¢.Àû¢ üõ ´¨À� �¤ í¤�� ¤�ÀÖõ Qj = xk + ω(xk+1 − xk) ñ�õÂê Å³¨ .Ý�û¢ üõ ö�È÷ ω �� �Â÷� ¤�Èä� ø k.Àþ¤ø� ´¨À� 21 ø 18 ø 24 ø 17 ø 14 ý�û ù¢�¢ ¤¢ �¤ �úî¤�� 6.2.1 ñ�·õ
n = 5 �î�¹÷� ¥� 14 ø 17 ø 18 ø 21 ø 24 :Ýþ¤�¢ �û ù¢�¢ ö¢Âî °�Âõ ��ñø� í¤�� 14 (5+ 1) = 32 = 1/5⇒ k = 1, ω = 0/5⇒ Q1 = x1 + 0/5(x2 − x1) = 15/5�ø¢ í¤�� 24 (5+ 1) = 62 = 3⇒ k = 3, ω = 0⇒ Q2 = x3 + 0(x4 − x3) = 18��¨ í¤�� 34 (5+ 1) = 184 = 4/5⇒ k = 4, ω = 0/5⇒ Q3 = x4 + 0/5(x5 − x4) = 22/5.À��î �±¨�½õ Âþ¥ ý�û ù¢�¢ ¤¢ �¤ �û í¤�� .ü¨�î 5.2.1ßþÂÞ�5,7,9,10,11,15ñ�õÂê ¥� ø �µê�þ �¤ Àª�� j n4 ýø�Æõ �þ ÂµÈ�� ö� üãÞ¹� ü÷�ø�Âê �î i �b µ¨¢ ,�÷��õ ñ�õÂê À�÷�õ ùÀª ýÀ�� �µ¨¢ ý�û ù¢�¢ ¤¢

Qj = ai +
j n4 − Fi−1

fi
c , j = 1,2,3�� ø �µÔð ×û¢ �¤ ´ÞÆì Âû ,¢�ª Ý�ÆÖ� Ç¿� 10 �� ��õ�¢ Âð� ,í¤�� À�÷�õ .Ý��î üõ ù¢�Ôµ¨� �û í¤�� �±¨�½õ ý�Â��� ø Ý���ð íÀ¬ �Â÷� ¢�ª ´ÞÆì 100 ��õ�¢ Âð� .´¨� �÷��õ ö�Þû Ý¹�� ×û¢ ùø�ã� ,Ý�û¢ üõ ö�È÷ D1, D2, · · · , D9.¢�� Àû��¡ �÷��õ ö�Þû Ýû�¹�� íÀ¬ ø ù¢�¢ ö�È÷ P1, P2, · · · , P99íÀ¬ �f ·õ .À�ª�� ö� ¥� ÂµØ��î �û ù¢�¢ %100p �f±þÂÖ� ù�ðÂû ,Ý�õ�÷ p �±�Âõ íÀ�� ,üÖ�Ö� 0 < p < 1 Ǒ�¥�� �¤ Qp ¢ÀäÝµÔû ×û¢ °��Â� ß�Þú� .À÷Â�ð üõ ¤�Âì ö� ¥� ÂµÞî �û ù¢�¢ À¬¤¢ ø¢ �î ´¨� ý¤�ÀÖõ ø ù¢�¢ ö�È÷ Q 2100 �� �¤ (p = 2100) �ø¢.m = Q 12 = Q2 = D5 = P50 �î ´¨� ßªø¤ ,Ý�û¢ üõ ö�È÷ Q 34 �� �¤ (p = 34) ��¨ í¤�� ø Q 710 �� �¤ (p = 710)



17 ¤�õ� .1 ÛÊê,ù¢Âî �±¨�½õ �¤ p(n + 1) �¤�±ä Qp íÀ�� �b ±¨�½õ ý�Â� -�û ù¢�¢ ö¢Âî °�Âõ ¥� Å� - ýÀ���µ¨¢ Àì�ê ý�û ù¢�¢ ¤¢.Àû¢ üõ ´¨À� �¤ íÀ�� ¤�ÀÖõ Qp = xk + ω(xk+1 − xk) Å³¨ .Ý�û¢ üõ ö�È÷ ω �� �Â÷� ¤�Èä� ø k �� �¤ ö� ¼�½¬ ¤�ÀÖõ
�þ ÂµÈ�� ö� üãÞ¹� ü÷�ø�Âê �î ��-i �b µ¨¢ �Àµ�� �î À�þ� üõ ´¨À� ß��� üîÀ�� Âþ¢�Öõ ,ùÀª ýÀ�� �µ¨¢ ùb¢�¢ n ý�Â�:ÝþÂ�ð üõ ¤�Ø� �¤ Âþ¥ ñ�õÂê ø �µê�þ �¤ Àª�� pn ýø�Æõ

Qp = ai +
pn − Fi−1

fi
c

.ñ��õ 6.2.1ßþÂÞ�.À��î ö��� ýÂ�ð �÷�Þ÷ �� �¤ ö� �ø�Ô� ?´Æ�� ý¤�ÞªÂ¨ (1.À�÷�� ñ�·õ ?´Æ�� Àõ�¤�î ø Ýó�¨ ý¤�¢Â� �÷�Þ÷ ×þ ý�ú�ðÄþø (2�¤�Ê�þÀ� ,´¨� ¢Àä À�� âÞ� ý��ãõ �� ∑ �ÞÚ�¨ ¢�Þ÷ (3
n

∑

i=m

xi = xm + xm+1 + xm+2 + · · · + xn �f ·õ4
∑

i=1 i

i + 5 =
11+ 5 +

22+ 5 +
33+ 5 +

44+ 5:Àþ¤ø� ´¨À� �¤ Âþ¥ Âþ¢�Öõ ÓþÂã� ßþ� ¥� ù¢�Ôµ¨� ��
(a)

8
∑

i=1 2i + 65 , (b)

10
∑

i=1 6i−3 , (c)

4
∑

i=1 i4 , (d)

4
∑

i=1(2i−6) , (e)

10
∑

i=1 i + 23 , (f)

5
∑

i=1 i2+i+1
:ÝþÂ�ð üõ ùÂú� �ú÷� ¥� �î ´¨� Âþ¥ �¤�Ê� ü¬��¡ ý�¤�¢ Û±ì ßþÂÞ� ¤¢ ùÀª ÓþÂã� ý�ÞÚ�¨ ¢�Þ÷ (4

n
∑

i=1 C = nC ,

n
∑

i=1 axi = a

n
∑

i=1 xi ,

n
∑

i=1(xi + yi) =

n
∑

i=1 xi +

n
∑

i=1 yiÂþ¢�Öõ ´Æ��ÜÎõ Àª�� ∑51 x2i = 13 ø ∑51 xi = 4 Âð�
(a)

5
∑1 (2xi + 3) , (b)

5
∑1 xi(xi + 2) , (c)

5
∑1 (xi + 3)2 , (d)

5
∑1 x3i − 1

xi − 1



18 ¤�õ� .1 ÛÊê:´¨� ùÀõ� ´¨À� Âþ¥ �¤�Ê� �û ù¢��÷�¡ ßþ� ö�À÷¥Âê ¢�Àã� ü÷�Âþ� ùb¢��÷�¡ 50 ¥� ýÂ�ð �÷�Þ÷ ×þ ¤¢ (5ø 2 ø 1 ø 0 ø 1 ø 1 ø 3 ø 2 ø 4 ø 1 ø 5 ø 2 ø 1 ø 0 ø 3 ø 2 ø 6 ø 4 ø 2 ø 5 ø 1 ø 0 ø 2 ø 1 ø 6 ø 3 ø 1 ø 24 ø 2 ø 6 ø 3 ø 1 ø 1 ø 2 ø 1 ø 0 ø 2 ø 1 ø 2 ø 4 ø 5 ø 1 ø 3 ø 2 ø 1 ø 2 ø 0 ø 0 ø 3 ø 3ø ��¨ ø �ø¢ ,ñø� �±�Âõ ý�û¤ø�µÈð ø �µê�þ �¤ üðÀ�î�Â� ø ý�îÂõ ý�û É¡�ª ,�û ù¢�¢ ü÷�ø�Âê âþ¥�� ñøÀ� Ý¨¤ ��°þ�Â® ø ù¢�Þ÷ É¿Èõ �¤ �û ù¢�¢ üÚó�� ,ü÷�ø�Âê Â� À�� ø ý� �Ü�õ ¤�¢�Þ÷ Ý¨¤ �� .Àþ¤ø� ´¨À� �¤ üðÀ�Èî °þÂ®.À�Æþ��� �¤ üÚó��ßþ� ´½¬ x̄−M ≃ 3(x̄−m) ´¨� ¤�ÂìÂ� Âþ¥ ü±þÂÖ� �Î��¤ Àõ ø �÷��õ ,ß�Ú÷��õ ß�� �î ùÀªÉ¿Èõ ü�Â¹� �¤�Ê� (6×þ ö¢¤ø� ´¨À� ý�Â� �Î��¤ ßþ� �î À��î ´ì¢) .À���Þ÷ ü¨¤Â� 5ßþÂÞ� ø 4.2.1 ø 1.2.1 ý�û ñ�·õ ý�Â� �¤ ùÀä�ì.(¢�ª üõ ��Æ½õ ùÀõ� ´¨À� ��ì¤� ´½¬ ø ��ä�Ï� ñÂµ�î ý�Â� üªø¤ �ú�� ø ù¢�±÷ ÂÚþ¢ Âµõ�¤�� ø¢ ¥� Âµõ�¤���� ùÀª �®Âä üÏ�ì 40 ¥� ýÂ�ð �÷�Þ÷ ×þ ¤¢ .À�î üõ �®Âä �Âð 200 ö¥ø �� ü��û üÏ�ì ,ý¥�¨øÂÆ�î �÷�¡¤�î ×þ (7:´¨� ùÀª ýÂ�ð ù¥�À÷� Âþ¥ �¤�Ê� �Âð °Æ�Â� �ú÷� ö¥ø ¤�¥��ø 190 ø 218 ø 207 ø 200 ø 199 ø 207 ø 205 ø 180 ø 194 ø 205 ø 203 ø 199 ø 192 ø 181 ø 198ø 202 ø 184 ø 201 ø 194 ø 196 ø 199 ø 204 ø 206 ø 214 ø 207 ø 201 ø 199 ø 210 ø 191 ø 188203 ø 199 ø 204 ø 182 ø 194 ø 195 ø 182 ø 202 ø 200 ø 198�¤ ��¨ ø �ø¢ ,ñø� �±�Âõ ý�û¤ø�µÈð ø �µê�þ �¤ üðÀ�î�Â� ø ý�îÂõ ý�û É¡�ª ,�û ù¢�¢ ü÷�ø�Âê âþ¥�� ñøÀ� Ý¨¤ ��¤�¢�Þ÷ .À�Æþ��� �¤ üÚó�� °þ�Â® ø ù¢�Þ÷ É¿Èõ �¤ �û ù¢�¢ üÚó�� ,�û ù¢�¢ ¤�¢�Þ÷ ø ��Âð�µÆ�û Ý¨¤ �� .Àþ¤ø� ´¨À�.À����� ö� ¥� ù¢�Ôµ¨� �� �¤ �÷��õ ø Ý¨¤ �¤ üóø�÷ ø ý¢�ã¬ ü÷�ø�ÂêÂ�À��.À��î ��Æ� �¤ 7ßþÂÞ� D7 ÝµÔû ×û¢ ø D3 ��¨ ×û¢ ,�úî¤�� ?¢¤�¢ ü�ãõ �� Qp íÀ�� ,�û¤�¢�Þ÷ ø ü¨À�û ÂÑ÷ ¥� (8.À��î ��Æ� �¤ Q1 , D2 , P10 , Q 45 , Q 9100 , Q 1320 üîÀ�� Âþ¢�Öõ 5 ø 8 ø 4 ø 9 ø 12 ø 2 ø 6 ý�û ù¢�¢ ý�Â� (9
∑n1(xi − x̄) = 0 À��î ´��� Àª�� x̄ �� Â��Â� x1, x2, · · · , xn ý�û ù¢�¢ ß�Ú÷��õ Âð� (10:Ý��î üõ ÓþÂã� ß��� �¤ H üÖê��� ß�Ú÷��õ ø G ü¨À�û ß�Ú÷��õ x1, x2, · · · , xn ´±·õ ý�û ù¢�¢ ý�Â� (11

G = n
√

x1x2 · · ·xn , H =
n

∑ 1
xi.À���Þ÷ ü¨¤Â� 1.2.1 ñ�·õ ý�û ù¢�¢ ý�Â� �¤ �Î��¤ ßþ� H ≤ G ≤ x̄ �¤�Ê� ´¨� ¤�ÂìÂ� H ø G ø x̄ ß�� �î ý� �Î��¤.À��î ��Æ� 9 ø 7 ø 5 ø 3 ø 1 ý�û ù¢�¢ ý�Â� �¤ �¤�ú� �� ñø� �b ±�Âõ ý�û¤ø�µÈð (12ý��¹�µ÷ É¡�ª ßþ� ¥� ö��� üõ �þ� �Þª ÂÑ�� ,À��î üõ ��Æ½õ üðÀ�î�Â� É¡�ª ö���ã� �¤ R ��Â��ç� ��õ�¢ üû�ð (13.?¤�Î� ¢�ª üõ ÓþÂã� R′ = 12 (xmax + xmin) �� �î ¢Â±÷��õ ?´êÂð ý¤�õ�?´¨� À�� �ú÷� Àõ .´¨� À�� 5 ø 3 ø 5 ø 4 Â��Â� °��Âµ� ý�û ü÷�ø�Âê �� 8 ø 7 ø 6 ø 5 ý�û ù¢�¢ �÷��õ (14



19 ¤�õ� .1 ÛÊê.Àª Àû��¡ ÂµÈ�� Å÷�þ¤�ø ¥� ùÀõ� ´¨À� ¤�ÀÖõ ,Ý�û¢ ¤�Âì ýÂÚþ¢ ¢Àä Âû x̄ ý�¹� Âð� Å÷�þ¤�ø ñ�õÂê ¤¢ �î À��î ´��� (15.¢�ª üõ Û¬�� ñ�õÂê ¥� ß�Ú÷��õ ¤�ÀÖõ �� �î ´¨� ý¢Àä ßþÂµØ��î Å÷�þ¤�ø ¤�ÀÖõ ü�¤�±ã�ßþ� Âð� .´¨� Q1 + Q3 − 2Q2 ´õ�ä ü¨¤Â� ø �úî¤�� ¥� ù¢�Ôµ¨� �� �û¤�¢�Þ÷ ¤¢ üÚó�� Ç¹�¨ ý�û §��Öõ ¥� üØþ (16�¤ ¤�ÀÖõ ßþ� .¢�� Àû��¡ ÂÔ¬ ñ�õÂ÷ ´ó�� ¤¢ ø ´¨� ²� �� �ó�� üÔ�õ Âð� ø ´¨�¤ �� �ó�� ü�½�õ Àª�� ´±·õ ¤�ÀÖõ.À�¹�Æ� �¤ �ú÷� üÚó�� ø ü¨¤Â� 5.2.1 ø 4.2.1ý�úó�·õ ý�Â�:Ý��î üõ ù¢�Ôµ¨� Âþ¥ �¤�Ê� ¤�¢ ö¥ø ß�Ú÷��õ ñ�õÂê ¥� ,°þÂ® ý�¤�¢ ��ÂÞ÷ À�÷�õ ¤�¢ ö¥ø ¢�Àä� ß�Ú÷��õ ß��ã� ý�Â� (17
xw = ü÷¥ø ß�Ú÷��õ = w1x1+w2x2+···+wnxn

w1+w2+···+wn§ø¤¢ ßþ� Âð� ´¨� À¬¤¢ 50 ø 32 ,28 ,40 °��Âµ� ����¢� ø üÞ�ª ,×þ��ê ,ü®�þ¤ §¤¢ ¤¢ ¤�Ø�î ¤¢ ý¢Âê °þ�Â®.À��î �±¨�½õ �¤ ¢Âê �±�¤ À�ª�� 4ø3,3,4 °þ�Â® ý�¤�¢ °��Âµ�ýÂ��ç� �û ù¢�¢ üÚµÆ�Â� ø üÚó�� ý�û¤��ãõ ,ý�îÂõ ý�û¤ø�µÈð ,¢�ª �ê�®� a ´��� ¤�ÀÖõ �û ù¢�¢ ��Þ� �� Âð� À��î ´��� (18.¢Âî À�û��¿÷é�Â½÷� Àª�� ï¤�� ��÷ �÷�Þ÷ ù¥�À÷� ø Àª�� �ó�� �fÔ�Ô¡ �þ ö¤�Öµõ âþ¥��×þ Âð� �î ¢�¢ ö�È÷ éøÂãõ §��ª ¤�õ� 13¢¤�Ôó�î (19ü¨¤Â� 5.2.1ø 4.2.1 ,1.2.1ý�û ñ�·õ ý�Â� �¤ �Î��¤ ßþ� üµ¨¤¢ .R = 6Sx ü�ãþ ´¨� ��Â��ç� ��õ�¢ ÝÈª ×þ ¤��ãõ.(´¨� ���ÜÞä ´½¬ ü¨¤Â� ý�Â� �fêÂ¬ �Î��¤ ßþ�) .À���Þ÷ø z̄ = 0 À��î ´��� .Ý���ð ùÀª ¢¤�À÷�µ¨� Â�çµõ �¤ zi ø ù¢Âî ù¢�Ôµ¨� zi = xi−x̄
Sx

¥� xi ý�ûù¢�¢ ö¢Âî ¢¤�À÷�µ¨� ý�Â� (20.Sz = 1ü���ª� ý�Â� .À÷�ùÀª üêÂãõ �û¤�¢�Þ÷ ¥� üÔÜµ¿õ ø á��µõ á��÷� ,Â���³õ�î 14ÛÆî� �b õ�÷Â� ¤¢ .ÛÆî� ¤¢ ¤�¢�Þ÷ á��÷� (21�¤�Ê� �¤ �û ù¢�¢ ÓÜµ¿õ Çþ�Þ÷ 5.2.1 ø 1.2.1ý�û ñ�·õ ý�ûù¢�¢ ßµêÂðÂÑ÷ ¤¢ �� üµÆþ�� �Þª ,�û¤�¢�Þ÷ ßþ� �� ÂµÈ��,�µª�±÷� ,ü��±� ,ü½Î¨ ,ý¤�¢�¤ ,ü��÷ø¢ ,¼ÎÆõ ,üðÀ�î�Â� −XY ,ý����Üî ,üÎ¡ ,ý��Ü�õ ,ü÷�µ¨ :À���Þ÷ Ý¨¤ ¤�¢�Þ÷.üõÂû ø üÏøÂ¿õ,ý��÷��µ¨�

Cullford13
Excel14


